F T PROFESSIONAL EXAMINATION BOARD
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Topic:- Child Development & Pedagogy (CDP)

./ fawg-areaiem wdtamor (AR TiauRE %) gRT Fuifed fear

1) Thematic Apperception Test was designed by
T YTl

1. Eysenck and Allport / &W 3R 3T
2. Galton and Kretchemer / lecq \3%? HIR
3. Jung and Sheldon / gTT 3R A=

4. Murray and Morgan / ™ 3R AR

Correct Answer :-

« Murray and Morgan / W3R AN

2) You are a pediatric resident. A 7-year-old Tarun is suspected to suffer from autism. You referred this boy to see an educational psychologist for
assessment. The education psychologist sends a report to you and you need to explain the findings to his mother. His strength is MOST likely found in
which of the following areas?

/ 39 U STAfIfhed® €1 7 [Td & a9 &) 3fifesH A NifSd 811 &1 I UT| 3y 39 9% B fipad & forg T
Afere gNaTie $f T@A & fore dem Rram wdTAe mus! v R dom@r 8 3R Ut I9H 3 ara fAsed
39 T B A7 B! UM P ATl ¢ | ITP| died, Faferfad # @ 59 8 # g ) gaffye dven g2

1. Oral presentation skills / s Qﬁﬁ DI

2. Verbal concept formation/ G ATYROT T3
3. Block design/ CSICASTIES]

4. Abstract thinking/ \W{é BIES

Correct Answer :-

- Block design/®_c”lv'|$ SSIER!

3) Gender is determined while sexis_____ determined. / e *u ¥ fuffia 3-1?“ % Safe A g
3 fruffragrar gl

1. Socially, Culturally /ﬂﬂm ,m

2. Biologically, Socially / CICEARSIEINED

3. Biologically, Environmentally /@%,ﬂ'ﬂﬁﬂm
4. Culturally, Biologically /IRepfaew ,Sifas

Correct Answer :-

. Culturally, Biologically /qRepfae ,Sifadw

4) A set of rules that helps us to derive meaning is known as: / orae &1 Tdh ﬁ'a' S E'el Y AT A Hag DIl %, =
F ¥ A ST A4 §:

1. Sentences / dId]

2. Phonemes / BI-F
3. Words / RTeq

4. Semantics / HTACH



Correct Answer :-

. Semantics / e

5) Trisha is an eight-year old girl who confidently performs arithmetic tasks that involve adding or subtracting zero from a
number. According to Piaget, which cognitive ability enables Trisha in understanding the concept?/ Br=m TP TS adifg
TSI 8, S ATATIYT | ANty w1 weedt 8 Forad ve T= | X &) g1 a1 ger mfya 81 frars &
SR, B W JFFTHS &1 =T B S@URUT GHgH & T&H F1dt 32

1. Decenter/ ﬁa"_S{UT

2. Conservation/ T&T0T

3. Logical reasoning/ difdbad (@fored JSfm)
4. Reversibility/ fqufar

Correct Answer :-

. Logical reasoning/ﬂTWT (ﬁmi SIS0

6) By three years, the child is able to speak . /?‘ﬁ:l EL ddb,d=dl CIGEE: KoL) 'Eﬁ?ﬂ %I
1. Syllables / &R

2. Grammatically complete words / RIS =0 4 ‘{Uf Req

3. Words / X[eq

4. Functionally complete words / FHS U U;Uf RIS

Correct Answer :-

« Functionally complete words / TS TG ‘{UfW

7) According to Abraham Maslow, is the summit of human motivation. / 3SITEH AT & SR, HG

RN $T WIPTHI 3|

1. Safety need / gR&lT P TGl

2. Love and belonging need / HegdT Ud WE B SagdHdl
3. Need for Self-actualisation / W-m AR GRIEI|

4. Esteem need / JHTH CARICEEE]

Correct Answer :-

« Need for Self-actualisation / 3{TH- g 3 CARICEBE||

8) What type of memory processing involves focusing on the superficial characteristics of an object? / fPa yeR 1 '\‘Tjﬁf

TEHUT | fhelt avg o1 gag! faRivar wR sa= Hfga s miver 82
1. Deep level processing / TT8RT ¥R JHTUT

2. Partial processing / 3ifRTes e

3. Elaborative processing / ﬁﬂﬂ RICE]

4. Shallow level processing / YT TR AT

Correct Answer :-

- Shallow level processing / SUTT TR AT

9) What principle of learning is observed when a child does well in an exam because he was promised a new phone? /

m@@mmﬁqmmﬁﬁmm%mwwuﬁ&nﬁmmm%maﬁwqﬁuﬁqmm
TT UT?



1. Negative reinforcement / TP IRIHD l:l"ldr NE
2. Negative punishment / TPRIHD qUS
3. Positive punishment / JHRIHD GUS
4. Positive reinforcement / YHRTHD E:IE]—T“H

Correct Answer :-

« Positive reinforcement / YHRTHD W

10) What is the unit of heredity? / Gﬂﬂﬂ'&ﬁﬁﬂ P ?ﬂﬂg T %?
1. Zygote / gIHAS

2. Gene / Sf1H

3. Fertilized cell / FISTId pIfRrepT

4, Chromosome /Hﬁ'ﬁh@'ﬁf

Correct Answer :-

. Gene /SIH

11) A child does his chores because he will be rewarded with a chocolate if he does. What is the term used to describe the

chocolate? / T T=T AT HTH HIAT § FNTP IR I§ HIAT @ a1 3 TIPbdc A RGP d [Ha1 S| Aicbae H1 qoi
P & T [ weg &1 IuaT fHaT Srar 82

1. Operant conditioner / m 3D
2. Punishing stimulus / g&PY REALCY

3. Reinforcer / Y&l

4. Neutral stimulus / ¥ m

Correct Answer :-

« Reinforcer / Uddh

12) Trail and error method was put forth by: / Udd dYT Zﬁ' fafer 3’7{3? RT ufaufed &t "I'&F:
1. Thorndike / YTHSTSH

2. Kohler / PIGER

3. Piaget / BRI

4. Pavlov / UTa@Id

Correct Answer :-

. Thorndike / USSP

13) A student who completes tasks to earn marks is motivated by:/ U® STH SN 3& 3ifofd H31 ¥ forw srd ORI Dpdl 2,

1. Knowing needs/ HTTIH AT Bl ST
2. Intrinsic factors/ 3fiAR® HR®

3. Extrinsic factors/ STgY] HRPb

4. Mastery goals/ HeIRd ¢I&d

Correct Answer :-

« Extrinsic factors/ Eﬂé’ﬁ DHRD



14) Through classical conditioning, a neutral stimulus becomes a/an . / Ferfafda PILCISE] (WTRIW e IR
& AT 9, TP IS SEIUP Th CERSIGIE

1. Unconditioned Response / Wﬂfﬁ‘lﬁ Gﬂ@ﬂ:ﬂ

2. Unconditioned stimulus / G{:Tﬂ’%ﬁ'l—d Cﬁ‘ﬁ'qa?

3. Conditioned stimulus / QW REALCY

4. Conditioned Response / Q'Wﬁ 3171’@'75{'[

Correct Answer :-

« Conditioned stimulus / EIW REIRCE

15) A continuous loud noise is avoided by closing the door. This is an example of . / SXATS DI §G HIP TAR 3
areft O STaTe A 941 ST ¢ 1 98 P1 TP 3B 2

1. Negative reinforcement / TP RIHD Q:ITS[T’FT

2. Negative punishment / TPRIHD IS
3. Positive punishment / SHRIHD GUS

4. Positive reinforcement / JHRIHD Y GT [GE|

Correct Answer :-

« Negative reinforcement / THPRIHD Q:ITS[T’FT

16) Several tissues coordinate to give rise to a system. This is known as ./ ®3 SdP, TP YUITel! Y o+H ¢4 & forg
A Hd 3 1 59 YT AR

1. Continuity / IREGRG]

2. Integration / QWUT
3. Specificity / ICELGI]

4, Differentiation / ﬁﬂﬂ_"f

Correct Answer :-

. Integration / qﬁw

17) Which theory integrates principles explored by chaos, network, and complexity and self-organisation theories? / PH-

1 RIGTd SRTSIdT, Aead 3R Afeedr Ud 3Te-TiTa Rigial gRT Wit Y Rigidl &) UPiepd Hiar 82
1. Cognitivism / GHTHSB

2. Connectivism / FATSATG

3. Behaviourism / SAAGRAIG

4. Humanism / HHddIdIg

Correct Answer :-

« Connectivism / WGFTGTE{

18) Which of the following is not a teaching skill in inclusive education? / Frafafaa & @ S gumash Rien & T fRreror
DI T8I o7

1. Formative / A0S
2. Achievement / SUQII
3. Summative / GASD
4. Performance / USRI



Correct Answer :-

. Formative / FHTOTH®

19) Which of the following types of parenting is least likely to benefit a child’s development? Fafafea d 3 P uer
F UTEE-UINT & 9 & fIBT & A1 g9 B U 999 FH 72

1. Permissive / W

2. Uninvolved / 3REG (HTGT&D U & 7 T g3
3. Authoritarian / GTATG

4. Authoritative / 3TTYDHTRD

Correct Answer :-

. Uninvolved / 38d (HIGHTHS U H 7 ST §3)

20) Which of the following steps should be taken in order to develop creativity in students? / B H TEATHS T faB iR

F1 F forg Frafafea & @ o1 a1 wen Iorar o T1fge?

1. The teacher has to give freedom to respond. / ]CQT&‘W &1 ufafesar a%[ & 1%’111 ESERI a:ﬁ E|T%'QI

2. The teacher should deliver lectures on the importance of creativity. / ﬁTW P TATHB T & Hed UR ARATT a:IT aT%'QI
3. Students should be given opportunities to ask questions. / Tl B U 11{9?{ Cg INIEICRS ol Bl

4. Teacher himself should be creative. / ﬁT&‘W P 9 Wt TITHS iﬁ:ﬂ EIT%QI

Correct Answer :-

« The teacher has to give freedom to respond. / fRreren o1 ufdforar <o & forg Wd=dn ot A

21) Which is the final stage of Piaget’s theory of cognitive development? /fras & HAATHD e & Rigia &1 sifaw
AR B ¥ 32

1. Formal operation stage / 3enfes Tfgpar srawa
2. Pre-operational stage / Uﬁ-ﬂﬁﬂl’m SIARIT

3. Concrete operation stage / Iﬁm AR

4. Sensorimotor stage / Tad! U= SR

Correct Answer :-

« Formal operation stage / 3enies Tfgpar sra=a

22) Different parts of the body have / IR & fafi "%’\"\‘l’f i | @T‘lT %:
1. Sporadic development / %?Q—C' [CEaRkl] ﬁ-ﬁ famrg

2. Uniform development / FJHTT foer

3. Different rate of development / fapN & faftg )

4. No development / ﬁ’i‘ o 7‘|_E§T

Correct Answer :-
- Different rate of development / e & AT R

23) CANCELLED

"My test results show that | have an interest for sports but | do not have stamina to play’; which of the following tests describes

the above statement?/ 'ﬁﬁwwm%%ﬁwﬁﬁ%ﬁmﬁw@ﬁ%mmﬁ%
Frafafaa & & o1 a1 1famr SR $YT ST 0 a1 32



1. Aptitude Test/ THGRI GTefom

2. Skill test/ PITC TRT&TT

3. Achievement test/ JUcITs TRI&UT
4. Intelligence Test/ gfe URT&UT

Correct Answer :-

. Aptitude Test/ 3T TRI&mT
24) CANCELLED

Children often blame themselves for parental conflict. What Piagetian principle explains this belief? / = 3R HaT-fuar

¥ dI9 gU TS ¥ fore e &1 &t A @ 1 s Rigia 539 Iy ) a1 saren v 82
1. Egocentrism / T

2. A-not-B error / T-Tg1-sf Ff

3. Conservation / T&UT

4, Animism / W'h:l?ﬂa

Correct Answer :-

« Egocentrism / @y

25) CANCELLED

During middle childhood, when faced with failure, what meaning would children attach to their experience? / ¥ §dU-

F IR, 5T B AT BT AT ST USdT 8, ) T2 (U ST A 1 GHS?

1. Shying away from activities in which they are likely to succeed. / TepIait a@ nfafafert 9 @ ®|d % S 37 T g @
BRICEI T

2. Conclude that trying new things is better. / g g a e '_-lg ISl B DI HRAT dgaR % I

3. Conclude that failure is an indication of their incompetence, not a condition that can be modified by learning or practicing. / g

fepd fTaT {5 ST ST 3feHd BT Tohd g, 7 b Uit fufar 8 Fory 3iftnms & ar 3oy vy O I )
far s gwar gl

4. Frustration and becoming more pessimistic about their abilities. / 3T 3R o=t ermarell & ey A o1fde FRm=mard! 81 S
gl
Correct Answer :-

« Conclude that failure is an indication of their incompetence, not a condition that can be modified by learning or practicing. / Ug

fepd fBTeT {5 STl Sab! 31eHdT BT Tohd &, 7 b Uit fRufa & Fory i & ar 3oy vy O I et
CRICIRSEIN

26) CANCELLED

According to Jean Piaget, the process which involves changing our existing schemas in the light of new information is

known as ./ 9 e ¥ SgER, 98 uithar ol 98 IMeT & gt § gAR Higl WAt S gga-l
MAE? _ FEUATEIAEIEI

1. Equilibration / IT&Y

2. Assimilation / HTHIATID ]
3. Organization/ TS

4, Accommodation / 3TdIH

Correct Answer :-

« Accommodation / 3{TdT



27) CANCELLED

If 20 dots are put along a straight line or curve, we see them together ignoring the gap between them. This follows which of Gestalt's
principle of perceptual organization? / 7fe 20 ﬁg ol Th FN T IS IY-J1Y QT ST % 3R TH ISP &9 & 3R BT
ST B THITY WA & | g ALIE & AYRUITHAD W P b RIid BT IR0 ST 82

1. Law of continuity/ﬁ?'_cl'{_cﬂav—[ﬁ'qq
2. Law of proximity /ﬁWﬂT &1 e
3. Law of closure /Wﬁﬁfm

4. Law of similarity /ﬂmwﬁm

Correct Answer :-

. Law of continuity/ﬁ?'_cl'{_cﬂav—[ﬁ'qq

28) Teachers need to the needs of diverse group of student. / ﬁl&ﬁﬁ = ol P fAfy qqg P ARSI B Ea
SATaLadHdT gl

1. Take care of / €T T&
2. Orchestrate /WW
3. Handle /%GF‘TW

4. Deal with /Hﬂ@?ﬂm

Correct Answer :-

« Orchestrate /TnTﬂTEH'I_;T

29) Which of the following is most crucial for children to learn to live in a society? / fFgfeRada A A P g B Th
A 7 ¥4 & o e § gad Ayl 22

1. To work on individual tasks / TfGITd HTAT UR HTH BT
2. To work collaboratively /WQWW
3. To work for rewards/W%ﬁ‘l’QWW

4. To work in isolation / Tdhid H BTH BT

Correct Answer :-

« To work collaboratively /W@Wm

30) Which of the following can help the child to overcome failure in school? / fAHferRaa # @ PI-91 9= B! faemay #
IAHAAT B gR P | Hag B AHdl 82

1. Asking them to Focus on next assessment / 38 AT HHip- IR &AM DHigd PR DI el

2. Motivating and encouraging them to emphasize on efforts over ability / &HdT T it T R SR ¢ & 1%’1'&’ B_-% URd &=
IR UeTfed =l

3. Giving them some free time for leisure / E% 3TBTY B 1%‘1? DS JTelt 9y a_'-IT
4. Changing their section/Class / RGCI STHIT/hET CARTASGII
Correct Answer :-

. Motivating and encouraging them to emphasize on efforts over ability / &HdT T 3w T R SR ¢4 & fam G%’ PEGERGI
3R TieTfed AT

Topic:- General Hindi (L1GH)

1) 33 framM 3, 35 frar o, ared R smu &
VR A &
TR e ®



STHT R 4T ¢
TRIG A, IWI@ A
AT R IS R
FTA 919 afF 3@ A
R oo ¥ A HY
A A E

T T AP 3T
W AR, Mad Rarg
R g, s R

g, et & wae amg

= & et wiE, 9,

RW M

IS 1A BT AR

A-ATT IR TRA-TRSA PR

31g Fer! Bt dia arew

IWIN T RAR

50 @a 4, sitafid-t

WP g

IR UL B Ugdx 11 YD W a1 U= $T Ik qa1gtl

T FRaT & 8Y A 9T AERIE 3R Ut 5 TSI BERIE! A B HEpRIT?
1. fpum ST Uelt

2. A ¥ STEd

3. B B WIR

4. R fHpam

Correct Answer :-

o EFE H e

2) 33 fHar oft, 3o forarm 3, s1ew iR emu §
VR A &

TRt d e ®

ST YR 7T 39 it

TR I, W@

TP § IAS-YAS R

BT 9T dfi 3@ al

Ry ¥ A HY

AYIM A E

g TN AR S

W AR, Mad warg

N g, sFa R

fRrg, wel & T omg

= & et wig, g,
R E

IS4 A BT SALR
-7 B TRSITRE $Y
3N FERI @t Aid AR
IWIN T RAR

50 @a 4, st



WA e
IUYa U= B UGHR 9 IR 9H a1d YR BT I« JaT3¢|

WR: SUR-SR Wel ot 3t el F wr A AR mar g2
1. -3

2. SRS

3. 3AN

4, Wd-UYR

Correct Answer :-

3) 3o fram i, 33 frar o, area for emu §
NR-N AT F
A ame

ST YR T &
TR IT A, W I@ A
P a1 afe 3@ af
A ol F WA B
I AY ¥

Tg TN AR TS
I 9eR, fiad qRars
R g, spa R

fore, el & e o

5 3 W wrg, g,
R amE

IS 918 BT AR
ATG-AT X TRE-TRS B
3¢ PERY @t W arex
ITGINERAR

5t @a ¥, sifafiri=
LiEackd

IR UL B Ugdx 11 Y& WH 91 U= $T Ik qa1gtl

TH: FTaife Weft & Y TF FAR I A g g 1 8, R o frwe s wa St Rw i R
1. EATRI BT

2. Ut &

3. al &1

4, IR BT

Correct Answer :-

e

4) 35 P 3, I3 fpum o, area iR e &
NR- NI F

a3 e

STHAT WR 1 @ At

SR I@ A, W@



PIA I qP 3G @Y
R woi & A B
TIATACE

g TN AR TS
W AR, Maa Rarg
o forg, arpar ¥

g, et & wae arg

IR g, g,
TR amE

IS T4 T AR
ATI-ATI DR IRG-TRS B
3t PRl Bt Hia AR
@I T RAR

st @a ®, sifafr=it
AT

IUYo U= B UGHR 19 IR WA 9Td YR BT I&R IaT3¢|

W: STGd o9 U ATy T A af fmarl & wn agas i
1.9

2. 3

3R

4.9d

Correct Answer :-

5) 35 fram o, 35 frar o, s RR amo &
NRN T F
a3 amg &

ST YR T &
TR I A, W I@ A
P T afe 3@ af
A ol F WA B
AYIM A

Tg TSN AP 3TS
Y AR, Maa warg
N g, spANR

fore, el & e o

2 3 W wrg, g,
WwamEE

IS 918 BT SR
ATE-ATE $R TRE-TRS B
3¢ PERI @t Wd Trex
TWINETRAR

50 @ #, sifafir=t
Hwd &



IuYad U= B UGHR 19 IR WA aTd YR BT I« JaT3|

TE: g1 A fPadt ahe ey ofig 7@ 37
1. T &

2. A BT

3. A B

4. FERI BT

Correct Answer :-

« TERI DI

6) 3 fHam 3it, 33 fram o, a1 v emu §
NR-N I F

| A ame

ST YR T &

TR IT A, W I@ A

HT a1 afe 3@ af

R o & WA HY

I AY ¥

Tg TN AR TS

T 9eR, iad qRars

RN g, spa R

fRre, wei & Terwv org

5 3 W wrg, g,
R E

IS 918 BT AR
ATG-AT X TRE-TRS B
3¢ PERY @t W arex
ITGINERAR

5t @a ¥, st
LiEackd

IR U= B UgdR 11 Y& W 91 U= $T Ik qa1gtl

T STed Gl § HIH-91 QA R 82
1. fpde

2. Fagl

3. pl

4. Sifaferet

Correct Answer :-

. offaferret

7) & fHar oft, 3o fram 3, srew iR emu §
NR-N I F

a3 e

STHAT W 1 3@ At

TRIE M, W@ Al



PIA I qP 3G @Y
R woi & A B
TIATACE

g TN AR TS
W AR, Maa Rarg
o forg, arpar ¥

o, et & wae amg

IR g, g,
TR amE

IS T4 FTA AR
ATI-ATI DR TIRG-TRS B
3t PRl Bt e AR
@I T RAR

st @a ®, sifafr=it
AT

IUYo U= B UGHR 19 IR WA 9Td YR BT I&R IaT3¢|

WRH: BHd B BT U Tl &1 9T gid U @ g1 82
1. A R FHT T

2. AT I BT Pl

3. Iufaa ot

4. Had I Ufaw

Correct Answer :-

. g aet

8) 35 fram 3ft, 3o fpar o, sea AR amu &
NRN T F
a3 amg F

ST YR T &
TR I A, W I@ A
BT a1 AP 3@ af
AR oo & WA HY
AYIM A

Tg TN AR TS
X AR, Wad Rars
RN g, spa R

forg, el @ Taws oré

3 & weRft urg, g,
Rw Mg

IS T BT FTAR
ATI-ATT DR TIRG-TRS B
3¢ PERI @t W Trex
IEIW I RA R

50 @ #, sifafir=t
W e



IUYa U= B UGHR 9 IR WA 91d YR BT I« JaTs|

W= R 3 st wad & WU ) S U e 82
1. FifE s R gE

2. THIA P T

3. Tl B TS S B g

4. BT o e g

Correct Answer :-

. Fifs BT AR EE &
9) 33 fHam 3it, 33 fram o, a1 R emu §
NW-N AT F

A ame

ST YR T &

TR I A, W I@ A

P a1 afe 3@ af

R o & WA HY
I AY ¥

Tg TN AR TS

T 9eR, e qRars

RN g, spa R

fRre, we § Terw org

R & weRft urg, 4,
R amE

IS 9T BT TAR
ATG-AT X TRE-TRS B
3¢ PERY @t W arex
ITGINERAR

5t @a ¥, sifafiri=
LiEackd

IR UL B UgdR 11 Y& W 91 U= $T Ik qd1g¢l
U= 39 Higar § fam I o a1a &1 g frar mar g2
1. S SE &I

2. ST B

3. WA &

4, ardf B HT

Correct Answer :-

. SAH B

10) 33 fHum 3it, 35 fFam off, arga iR sy &
NRR T F

TR M

ST YR T &

TR AT A, W I@ A



P 19 af® @ at
AR ToN F WA BT
AYIM ALY

TG M ABT 3T
W AR, Mad wars
o forg, arpar A%
frg, wel & Teree org

= & et urg, 9,
RWIE

IS AT BT SALR
AT-ATI PR TRE-TRS B
3itg Ferl @t e arer
IWIN T RAR

50 @a 4, sttt
e E

SUYe Ui B TGP I IR 9H 9T U BT I« IaT5¢|

TR YR S S qer 331 & A $1 75 IR 18- 9HTa vedr @2
1. 4RI R

2. TR R

3. WHR R

4. i

Correct Answer :-

. fERI R

11) 93 fHum 3, 3 e o, area fiR ey &
NR-N I F
a3 e
STHAT WR 1 ¢4
SR I@ A, SIREE A
BT 9T dfP @ al
R o ¥ A B
YA AY ¥

Tg WM AP TS
W AR, Mad warg
RN, AR

frg, el @ wawv ord

frR & TR TgH, I,
Rw M

IS AT BT SALR
ATG-AT X TRE-TRS B
3G TERI # die areR
IGINTRAR

5% Qa A, sifafr=i
LiEackd

IR U= B UgdR 11 U W 9T YR $T Ik ad15¢l



U foral & gR- R A1 1A B A fra wer 3
1. TR &I

2. Il &Y

3. AT &

4, STeell I

Correct Answer :-

. Sredl @

12) 33 fHam 3it, 35 P off, area iR sy &
NRRN T F

R d g

ST YR T &

TR AT A, W I@ A

FTA a1 af P 3@ dl

R o & WA Y

AYIM A E

Tg TSN AP 3T

WY AR, Miaa Rarg

A g, srpar R

fore, el & e o

3 & wdRft urg, 4,
R M

I3 T BT FTAR
ATI-ATI PR TIRG-TRS B
3¢ PERI @t W Trex
IEIW I RA R

50 @ #, sifafirt
W d

IR UL B UgHR -1 IS W 91 U= $T Ik qa1gel

w=H: A & W) ® gRieTel fohrg Hiw | el @2
1D WY

2. 3 W

3. 3R A ¥

4. D WMIR I

Correct Answer :-

. IDBTHITY

13) 33 [P 30, 35 P off, aga AR sy &
NRN I F

| A ame

SHTEHT YR T &@

SR I@ A, IWI@ At

BT 9T afe 3@ al

R wmon & A HY



qEIM A E

T T AP 3T
W AR, Maa Rarg
W o, s R

g, el & Tae arg

A 3 e wigH, T,
WM e

IS A4 FTA TAWR
AT-ATT PR TRG-TRS P
3 PERI @t AW Tre
FWIWE RAR

st @a ®, sifafir=it
Hva g

IS Ui B UgHR 14 IS S 9T U= $T Ik qd15¢1

UL TR YR Ndd [ears g Gexm des ams?
1. fosdlt 1 75t

2. STGd Ul UG &1

3. f & Am 1

4, ST & HIGH BT

Correct Answer :-

. SGd Ul UIge &1
14) 33 fHum 3it, 35 P off, arga iR sy &
RRN AT F
TRA M

ST YR T & &
TR AT A, W I@ A
FTA 919 af P 3@ al
R o F WA Y
AYIM A E

Tg TN AR TS
WY AR, Miaa warg
A g, srbar R
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e P 10 TG T TP 40 T 8l ITS; AAAd IR 1 81 TS| Ted | BIS a1 haed) A1 i | 3P qravg g Uarad $ aral bt G HiTe 311 BT ATl we
& STHUTS & ASRTR & BIGT JGWR | §HS Irarar arll B HUST, o, TP, Bitar, Hed, geiifraft, fifr sie Mrem gegiie F ot e frerdr an



uwﬁ%{g&'(1914—1919)%3aﬁvmmﬁwaﬁ?3ﬁlﬁmwréTmmW§smmmﬁa%wmaﬁmmgélWmd’ra%a?m,mﬁ
AR & F SATER] BT T fAgTs 39 98 PRW | HIS[g YT de e & ATHR W TGI8 & 1Y g1 1y F off et g5 1 T A & 39K 1870
1% T 3 JMEX | AU 20,000 ORTEN Tea A1 R AR H ASAIR 6T et urar o1 390 A 3 SIS HIE SIRTY H1 @d A1 H3 9R gg W giar o1 7% fpadt
PREMA § Y I TR TH B B T AWRTY HIP gk FUTS 81 ol N1 g &b SR P35 Afgarsl 1 et welt 75| T Afgarsit S So=r [oR *R 71 &
R gl & R & T A HIA B TSGR 1 USTI F Afgarsit 7 gax o1t & R oo W fm R 31 I3 f5an1 w3 e g= ot 39% 9f 99 gR1 $9
IR 9T HTHI TR G T 471 IS 916 1870 H FITR TSR Tae U 34T 3R 1902 H et Tae URT g3l 39 S| & e & 98 iy fear mar i
B T B PRGN A HTH 7 BT US| Tial § T a1t MUETRIG! F PRI AL A TART Bt AT S0 81 TS | 7GRN Y e dt a1 H21T Bt G F 1Ay
F gaur 7 fradt B Tt 93 (Rievge & siere wifére) 3 1887 A Ta Od 6411 30 99 & garfae ded & 10 a1 a1 719 4| 97 S 99T & de B Smardt
T S7 ufa=ra T

ITdeR T Y TP R IR TE U BT I&R AT
URA: FICHS] THRIH Uae $9 3R Badl Tae $9 U g
1. 1890 3R 1852

2. 1870 3R 1902

3. 1880 3R 1872

4. 1885 3R 1905

Correct Answer :-

. 1870 3R 1902

25) EY 3 WM $! $gd & gl WgE e fpareil & $iY &1 B1g W ¢ gia1 81 99 WS &1 IadTe 3a-1 S g1 T b I0d oy e wfafafir &1
Tu e T ) ER) BT AT gl e THR A FF MR BT P gon B §; 9 IeHHa® T, YRS o, ST 49, unfife Tw ok difgs
nfafaftmi| e wifa & # axe arg W srftreizr ufdndt 3= ymfior ufvawr ara € A1 3R ¥ 3© & Shenfie =resl & e ard arftrei=r @ amdtor &=t &
TATa B3P M A1 1750 3 3T TS 3R A9 P < A & | TP AR dieT A Tgdl UT| Ted U 981 Xe¥ YT ST81 P S=RiEAT 675,000 A1 1810 & 1880 F =
T B 10 TG A TGHR 40 A 8 TS; AAAd IR A1 8 5 | Te A D15 931 Baed) 78 N1 30 qrav]g de Tara- S ardl 3t T Wiora gaim Har 4Tl e
F STHATS | ISR & PTH! AR Y| ITP 3(AATaT AR B HUST, qﬁ,aﬁ,ﬁhv,ﬂm,ﬁﬁﬁuﬁmﬁﬁnaﬁvﬁﬁmé@?ﬁmmﬁwm

wuH Iy I (1914-1919) F IR e A PR 3R FARH A IATGH T T LT FoHT| THH 7iaT A T3 PRETH! 31 YH3A §3 | $© 9AT A F 916, e &
AR & $ AR BT T [I8TE 37 98 FREH! & WS[g AUTI T WX F PR H TGt F ATY Tt Ry F off geiadl g5 1 U 3= & 3R 1870 &
1P | 39 e H TIHT 20,000 SURTER Iga A1 RO @R BT SRR 76 Fire urar o1 39 A 8 SIS IS 3RIY I A4 A1 F3 IR g 7 ghar o1 fop fpeft
PREM F F Ia R $TH HIA P T WRTY HIP Jga? HATS 81 ol N1 T F R $$ afgansi &Y Tt weht 71 Ui afgemsii H o1 Tor /R w1 F
R qRY & R & ApT SRa PR I TSGR 1 USTI S Afgarail 7 gux STl & R v R A W 31 I 51 78 T a=f B 3% |l 919 §RT &9
IR 9T HTH TR G T 71 IS 916 1870 H FIIRR TSR Yae URT 3T 3R 1902 H Tt Uae URT §aiTl 39 $TA! &1 e ¥ 98 iy fvar mar f&
BIe T B PREM! A S 7 ST US| TGl A 3 TS SMIATRIGT & HRUT AL # SATAM B THET IAH 81 T | 37 Al DI thaed] AT aHTT B aRE A AT
aﬁgmqﬁﬁaﬁmlmqum%mmﬁmﬁmmﬁwﬁmlwﬁ%gmﬁﬁmﬁ 10 9E @NT RIS A1 T8 9 99 P e P Erdt
BT &g ufarrd o1

STH TV B TG N I T U= P IR IA5T
WH: Gie # Bl ST B F AR ¥ A2

1.9gP

2. SIHATS

3. JENT

4.5
Correct Answer :-
. SlHars

26) TG I WM B FE4 § 161 Y4 i frarsi & $Y &1 H1$ R 78 §1a1 31 519 WIS $71 IaTe 01 e g9 o & 399 o anffes wifafaftrat #)
Tud e T ) 2eRY &1 AP g e R A FS nfafafte $1 Fx gon wvd §; 9 IeEiae 9T, WIS o, IR 49, unftfe Twd ok difges
nfafafirat| shaifire wifa & o3 ez arg ot aiftresizr uf3eh =1 yrefhor ofa=r o & 41 k= # o & e wre<) & e ara siftrei=r @i amedior & &
AT B3P 33 A1 1750 3N 3T T70S 3R 3T P g A ¥ | TP AR da A Tgdl UT| Ted U 9871 X6¥ YT S[81 3| S-RiT 675,000 A1 1810 1880 F i
e P 10 TG T TP 40 AT 8l TS; Aad TR 1 81 TS| Ted § BIS 981 thaed) A8) | 59 qravg dg- Uara $ aral bt GoT HivTer 311 BT ATl we
%wHéﬁm%mmmgﬂ%mﬁﬁﬁm,qﬁ,aﬁﬁ,ﬁa?,ﬁm,m,ﬁ%nmmégﬁ?ﬁmmﬁmml

Y {4y I (1914-1919) F IR e ¥ SR 3R FafRedd IAUTE! BT T YT §T| THA de ¥ 98 TR B J[FATT §5 | $© 99T dia F 91, deT &
AR & $ aER) BT TP 4818 371 93 FREH! & WS[g AUTI e e & PR & TGt & A1y g1 1y F oY geiad) g5 1 o 3gu™ & 39R 1870 &
TNF § 3 ST | ATHT 20,000 mtﬁﬁ%&lﬁﬁ?ﬁﬂﬂaﬁﬁwﬁﬁmmmaﬂﬁ%v{eﬁﬁ%mumﬁmﬁmﬁmwmﬁmmﬁfﬁﬂﬂ
PREM | HH 397 W B S P TolT WY HIP JgaR HUTS &) o1t N1 T F R B3 ufiganaii A Mo weft 7181 W[h Afenaii &Y Sromm oR TR $ &
o goRY & R & AT SR FIA I TSGR S USTI FS Afgersit T gwR S & R v W AR W 30 g fra| w8 e a=i B 39 | a1 §R F9
TR 9Td ST IR 0 a1 1411 3UF 91 1870 H FIUEHR) THRI Uae UTH §3iT 3% 1902 # Haedl Tae URT gl 39 STH! @t Hag A g g fvar ma f&
Bl T B PREM] W S T BT TS| Tial § 3 aTe MUY F PRI U | SATA $T THET ST 81 TS | 39 ANN P hae} 91 ahY Pt aXE 4§ ST
aﬂgﬁ;mﬂﬁﬁmﬂtmmﬁqu(ﬁmqg%?mum)hswﬁwﬁmls'ﬂ'ﬂﬁa?amm?iaﬂﬁ 10 TG ART RIS A1 T8 I 9HA F e PI ardt
BT S ufarra ol

IR TR B UGHR 1 YD T U= BT Sk qa1z¢l
URH: T 1750 W de 31 i fhat di?

1. 345000

2. 47500

3. 575000

4. 675000



Correct Answer :-

* 675000

27) WEX U W S Hed € wg! W AP fparaii § $iy o1 Big W 81 §iaT 81 SIg WIS BT Iere 3T 3 814 o fob ITd o e wrfafafial 1
U e T ) e BT BT Tl e TH A FF NAfARR BT Fx gon B §; I IeaE T, WIS o, IENT 49, onftfe Tw ok difge
nfafaftat| heifire ®ifd & o3 axre arg ot 3z ufZeh =1 yrehor aRasr o & 41 e & 1o & Shenfie we<l & e ara erftreir av arditor &= &

T P M A1 1750 3ATd 3T STAS 3R 907 & & A1 § & Teb AfRT dieT | 38T UT| WaT Uh 981 e UT SIg1 B S-HSI 675,000 A1 1810 & 1880 & o™
W B 10 TG A TGHR 40 G & TS; AAAd IR A1 81 5 | de A g 931 Baed) 78 M| 30 qrav]g de Uara- S ardl 3t a7 Tiord gaim Har 4Tl ded
%mﬁﬁw$mﬁwmswisamm?hﬁas’rm,qﬁ,aa@,mfhzﬂm,éﬁﬁuﬁn,ﬁﬁnaﬁvﬂﬁmé@?ﬁmmﬁwm

Y Y I (1914-1919) F IR e ¥ BR 3R FAfRdd IAUTE! T T T §TI THA e ¥ 98 PRI B YT §5 | $© 99 dia F 91, dad o
TR F FoT IAER] BT TP 6T 57 98 RG] § Hie[g UT| & e P SR A Teras) & 91y gt arwry # f seiadt g1 U A & 39K 1870 %
RTP | 39 e W TIHT 20,000 U7l Iga A1 FoF @R BT ASATR 78 Fre urar o1 379 | 8 SIS U 3RIY 39 Aa A1 F3 IR g ghar o1 for fpeht
PREM F F Ia- R $TH HIA P T WRTY HIP Jga? HUTS 81 ol N1 5 F R $$ afgansi & Fiwt welt 751 Uit afgensii & o1 Tor /R w1 F
R qERY & R F AT A FRA I TSGR 1 USTI HS AfFerail 7 guR HTEl & R v R A W 31 I fhaT1 w8 e a=f B 3919 | a1 §RT 9
IR 9T ST G 1 39T 7471 39S 91 1870 § ST TS[H I Yae U g3iT 3R 1902 # Thaedt Uae Ui g3iT| 39 S| @1 Hae A g8 Jiida fbar mar f&
Bl Tl B PRE] H B 7 BT TS| Tid] A 3 aTe TSR] S SR U | SATA $T THET IUT 81 TS| 39 ANl P e} a1 ThY Pt aXE F ST
a&ggmﬂé’fﬁmﬂ?mmqum$muﬁm%1ss7ﬁwﬁm|wﬁ%gmﬁmmﬁ 10 T AT TRIT | IF I WHA & WS DI STard
o1 S wfe=rd T

STH TV B TEH R I T U= P IR IART
T 5 i BT IdTe g A el &7 fawr gan?
1. Had T

2. H9d HY-HS!

3. Had g

4. Iudad quft

Correct Answer :-

- Sugad Tt

28) ER I I F Bgd & el g e fparsit # $1Y &1 HIE we € gar 81 519 WMo ST IedTe 3a-1 3Tt g1 o 6 39 oy o nfafafiray &
T e o A X6l BT IR 3| TR THRM A P AfAfAfRrE] BT Hg G FIA 8; S AT JT, YRHE o, ST 49, anfifer Tt ok Sifgs
nfafafirati sieifire wify & w< axre a1g ot siftrei=r ufyeh T=r amftor ufedwr ara & 31 3R o o & Nefire el ® 3= arar srftresi=T T ameftor &= &
AT B3P 3 A1 1750 3N 3T F70s 3R AT F g A1 ¥ | TP AR die A TgdT UT| ded U 981 XeT YT W8l 3 S-RiSAT 675,000 A1 1810 W 1880 F
Ted P 10 TG W TgHR 40 ARG B TS; HaAd IR T &) 15| Ted A B 78t baedl T oft | 0P 1998 e TArH $ aral B Yo7 T o HeT ATl ded
& STHUTS & ASRIR & BIBT G | §HS Srardr arll B HUST, o, THs), BitaR, Aed, geifraft, fif sie Mrem gegiie ¥ ot e frerdr an

Y 4%y I5 (1914-1919) F IR e A SR 3R Faffeda IAUTE! BT T T §TI THA Ao § 98 PRI B AT §5 | $© 9T dia F 91, deT &
AR & $ TR} BT TF 4518 371 93 RGN & WS[g AUTI e AeX & AHR & TGt & A1y g7 w1y F oY sgiad) 51 o 3™ & 39R 1870 &
TP T 3 WMeX | AU 20,000 ORI 5 A1 R AN F ASAIR 6T et Irar o1 396 A 3 SIS A RTY HI1 A A1 H 9R gg i giar o1 7% fpaht
PREM W F Ia9 TR BT HI B oG SORTY HIP JgaR BATE 8f oret N | T & IR S Afgansit F o =eht 75| R Afaraii F a1 Tor ’R FH &
R gl & R & NbT A= HIA B TSGR 1 UST| 3 Afgarsit 7 oy 1t & R o1 W i R 31 = a1 w5 e g= & 39% i 919 gR1 $0
TR 1 ST TR 1 am Ta11 39F 91 1870 H e} TIHH Uae U §3iT 3R 1902 # Haed) Tae URT gaim| 39 $T! @t Uag A g gfifda fvar wa f
B T B FPRE] T S T ST US| Tidl § 3 aTe) MUY F PRI VR | SATA $T THET S4F 81 TS | 3 ARN P haet 91 ahY Pt aRE F SMarT
a&gﬁ;mqﬁﬁmhammqu(m$mm)ﬁ1ss7ﬁwﬁM|swﬁ%ﬁgarmaz:rﬁ 10 GG AT T A | T I THT b AT B SATardt
1 S g Tl

IUYa TR P UgHR Y T T Y= BT I« a1zl

URH: T 1810 W 1880 dH wg & wHEEHT frawt ¥ ggd fba-l &1 152
1. 5@ 10 TG

2.20 ARG 9 30 T

3. 10 ARG Y 40 TG

4, 40 ARG Y 80 TG

Correct Answer :-

o 10 TG Y 40 ARG

29) EY W WM F! $gd & gl vgE 1w fparsii & $iy &1 BIg W 761 gia1 81 99 WS ST Iadre 3a-1 3ifid 814 T fb 309 o anffe fafafir
TaT e T ) eR) BT AT g e U A HE ARl $7 F% gon B §; S Ieia® 9T, W= o, SEnT 49, e Twi ok difge
nfafaftmi| e ®ify & o oxe arg W srftreizr uffedt 3= ymfior ufvawr ara € A1 3= ¥ 3o & e <est & T8 a1 arftrepi=r & amedior &=t &
TATa B3P 3 A1 1750 3MTd 3T §7AS 3R 30 P &Y 1 § ¥ TP aafadd de Il 47| Wa- TP 9871 e 4T 5§l 31 SIS 675,000 A1 1810 A 1880 F &4
Ted $T 10 TG W TgHR 40 AR §Y TS; HaAd IR AT 81 TS| e § FIS 9t baedl T <ft | 30F I199[g e T $A 16l Bt YT HiRTd i HeT ATl T
F SIHATS | AR F HTBT TR Y| $HD AT AN DI HUST, I, AP, B-ira, Fed, Soif-aia, fﬁﬁﬂ&ﬁ?ﬂﬁmg@?ﬁmmﬁmml

v fa% I (1914-1919) F R die # PR SR Fafdedd ITEl BT T J[E §3TI 3T de | 98 FRAF! 31 YIIATT §3 | T© 994 dia4 & q1¢, ded &
AR & F SATER] BT TP fAgTs 39 98 PRW! | HiS[g YT de e & ATHR W TEIast & ATy TgT 1y F oft eiast 51 T A & 39K 1870

2 § 59 [ET H TIHT 20,000 U7 Iga A1 RO @R 1 ASATR T8 Fre urar o1 39 A 8 SIS IS 3RIY I A4 A1 $5 IR g I ghar o1 fop fpeft
PREMA § Y I TR BTH B B T ARTY HIP Jgak FUTS 81 ol N1 g &b R $s Afeansl 1 et welt 75| T Afgarsit S So=r [oR *R 71 &
R gl & R & b1 A HIA B TSGR 1 USTI F Afgarsit 7 gk 1t & R oo R fvr R 31 1= a1 w3 e g= ot 39% 9f 99 gR1 $9
IR AT HTH TR G T 71 IS 916 1870 H FITER TSR Tae U 34T 3R 1902 H et Uae URT gaiTl 39 $TA! & e § 98 Jfda fvar mar i
BIe T D PREH! A S 7 ST US| TGl A 3 aTel SMIGTRIGT & HRUT AT # SATAM B THET IAH 81 T | 37 Al DI thaedl AT aHTT B dXE A AT



a»"r%h;mqﬁﬁmhamarafqu(ﬁmqa?mmﬁm)ﬁmmﬁmﬁ%mswﬁasgam?iz:rﬁ 10 IRE ART RIS A1 I8 I AT & Ae I Erdt
1 i fa=ra 4

IR TR B UgHR 1 ID T U= BT Sk qarzel
WR: de ER BT PR T¢I f5a A & st gs2
1. 319

2. 3dTad

3. STURTY

4. grarrd

Correct Answer :-

o URTY

30) ER I RIH I Bgd & Wel g e fharsit § $Y 1 B wie g1 gar 81 59 WMo ST IdTe 3a-7 31Tt g1 o 6 3w o enfife nfafafiry &
T R o At 6RT T AT g1 SR TAT A B3 MATITUGT BT g §3T B §; 4 ST T, FRHP o, AN 49, uififer el ok Aifse
nfafafirat| sieifire wify & w< a=re a1g ot siftreizr ufdnd 2=r ymftor ufedwr ara & 21 o= o 3o & SNefre el ® v+ arar srftresi=T T meftor &= &
TATa F3P 3 A1 1750 3MTd 3T §7AS 3R 300 P 82 1 § ¥ TP aafad de § Ig<T 47| Wa- T T871 X6 4T 5§l 31 SIS 675,000 A1 1810 I 1880 F &4
WS B 10 TG A TGHR 40 G 8 TS; AAAq IR A1 81 T | Tia A $Ig 981 Baed) 78 A | 30 qracg de Tara- S aral Bt T Hiora gaim ST U7l e
%gmﬁﬁw%mﬁmmsiﬁim?ﬁﬁﬁmﬁ:ﬁ,aﬁﬁ,uﬁh?,ﬁm,gﬁﬁuﬁﬂ,ﬁﬁﬂaﬁ?ﬂhmg@?ﬁmmﬁmw

YW Ay T (1914-1919) F IR tg & BR 3R TGP IATG! BT 1 Yo 31| TN T W 98 PRUM &1 Y31 g3 | $© AT didA & 91, e A
AR & F TR BT TP fAgTs 39 98 PRWT § HIS[g UT| Fe e & ATHR § TGI8 & 1Y g1 w1y F off eiast 51 T A & 39K 1870 F
TP | 59 [ET H TIHT 20,000 U7 Iga A1 R @R 1 ASATR T8 Fre urar o1 S A S DI IS RIY I A4 A1 FS IR Tg I ghar o1 fop fpeht
PREA § U Ia TR TH B B T WRTY HIP gk HUTS 81 ol N1 g &b SR $s Afganal 1 Aot welt 75| T Afgarsit S So=r [oR R 71 &
R gl & R & b1 A= HIA B AR 1 USTI s Afgarsit 7 ok &1t & R o/ R fvr R 31 1= f5an1 +3 e a= o 39% i 99 gR1 59
TR 1 ST TR T a1 7411 39S 91 1870 H IR} TIHH Uae U g3 3R 1902 H Haed) Tae uRT gaim| 39 ST @t Ueg A g gf i fvar ma fa
BIe Ta B FRETH! T ST 7 ST US| Gl A 3 AT SMUSTRIAT & HRUT AR F TGN B THET IAF 81 5 | 371 ANl 1 el AT aHTY &Y avE A Tar
a&gﬁ;mqﬁfhmhmlmﬁqw@w&a%mmﬁm#mmﬁwqﬁmlwﬁ%wmﬁ 10 TG AT T | IF I THT b deT B STard
1 S ufa=rd ol

TR TR P UgT H1A TR Y U BT I<R qA15¢

T W) B uE e fraraii # fraet avrer & giare
1. P IUG

2. 3T

3.3

4, AUR

Correct Answer :-

Topic:- General Sanskrit(L2GS)

Y ZeeAH ST A 3AHEI-



4)
uR=de gfdcar ueaEg gegagcdi g -

5o IE 3T | Seal: U dfegal | dfcaeRT: SAICETT, ﬁﬁaﬁ
W AT | AT fder AEAGHY T ddd |

gIET v TEhE: | faen vewn o | 3 W@ ded
TR | Ad: Mide: | dog: oA uRd: gcferor wAfd | T A
Tcqul s7af | iU deaed fReH 3REd sdafd | dd: e feA
efiara faer: | der Fpeomger: safd |

Tog & NISerehell: Hicd | TFd hefdel goiie: A ggfd | 31 &
TogAWL: sfd UTEg: | AN Toged o HIT Fell £qd IFE |
QeT: GIAUCReT AT F: gUd | el Ferder: siafd |

Tog: T T GAIET od A | F: TARAT AAAT Sl STaeR
TRIfd | & AT A Pdfed o IT AT sfafed |

$og: ®al 3¢ ?

) .



Hid:

, FEITE
, A

Correct Answer :-

Y uf=ae ufscar yeaeT AGHH AT -

98 #RAGY fAaEmE: | A 99 AR T | 3EA HEpid:
ARAIEEDA: | TAROT ARAIEEPd: 36 ool | FET Wiadr
g aredife: |

UrNTRAET guilgr 911 3raear | dF gdada: gerel A
TS WA, | T FHorere: afics: IAcad gooa: IR | GWATT
fae: omaT: 3Mae | drd Sigedr, AT, Hhdl T | HAIAT:
AA: | AEAUREA JIAAAT: TG | GRATAY FiASSET $ATT AT
hehdl |
ded g THEHUN AgfSfaeafA3vr @g Iereony aqH 3weresdH |
at drcehl- FeTg- efcllel TETAI HARIAH | dd: AN Rigand fEicear
Ararar: qIfoargorH AU |

faq: 3merar AR AIATTEATSIT T 1A 3Teod | dF &
HABI dSelfel 3oasiad | TFT: AR AR | AdeaToTa®
qNaET HFA 3eleTd | GAaed TATAT IREcT Yel: HAT-a o,
Kiczis il

#AH: & Bccar darn: qftagoE 3 |



7)
ufi=e ufdScar UestEd ﬂagdgcdi oI -

$g;: TE 36T | Seal: Ul dfegel | dfegolT: SIIcET, aﬁaﬁﬁ
HW AFHAT | ET Mol AEeGhd I add |

qIET yarer: T@HE: | e uen W HEE | 3T W@ aed
UhRIA, | 37d: efder: | deg: &fH aRa: vefdior wAfd | T Al
vacyet srafd | qiotaR geeed foeeH 3ReEd e@fd | da: oA e
efiad fae: | der peorger: sfafd |

Yoo WISehell: Hicd | T8I Heldehl goife: MY agfd | 37d: &
TogdW@: 3fd Ufdg: | AN Toged o HIT Hell AT IETe |
Uel: IfAUGRET HAUT F: TUd | dal AFervar: siafd |

Tog: Hd: T GAGIET ¢d A | §: TABAT AT SAEAT cTa6R
aRAfd | A A FA Fafed o dE T Tm: safed |

HET UGe: TEhid: ?



u=ae gfecar Ueaey gagagcdi qIad -

e TE 36T | Seal: U dfeaal | dfegeRT: ST, aﬁgaﬁ
AW AHAT | A7 el el I add |

gIET vyoprer: T@hE: | fen vewr A | 3d @ oed
UM | 37c: el | Teg: ofF dRa: wefdior wdfd | T A
UAcqUT atd | QiU Teeed SR 3REd safd | ad: e A
efiord faer: | der Ppeomger: #afd |

Yoo NISehell: Hicd | dET Shede goife: M agfd | 31a: &
Jog@y: sfa uflg: | IHEE™AT degdd o HIT Hhell T Td IETA |
geT: GfAUeReT HAUT T: JEd | el Ferver: safd |

Tog: GA: T AT ¢d A | F: TARAT AU SAlAl FaEN
gedfd | 3 A A Fdfed I d&7 FOm: safed |

a:eia?;':i‘mﬁ%r?

I+

1.

A&

2.

§ WAHTIET
,

Correct Answer :-

| HEET



URTSE fScar Jead AgHR I -
ad ARdeYl fAawE: | dEAd 99 ARARN: T | NEAS HERd:
ARAIEEDIA: | TANYT ARAIEERd: A6 ool | 38 Wiar
A areAifE: |

UTTRAET gURAgr o e | dF ghadi: gerey A
TSI IR, | a6 FHerere: afics: AR goo: AR | G
fae: omaT: 3MEa | drd wigedr, GEAF, Hhdl T | HlGeIAT:
A | FEFAURMEEA JIAAAT: Tl | GRATAY HiASoTT sRATT Al
hehdl |
ded U9 THAEAUT AgTETaeafA3or @ IeRerony aqd 3weresdrH |
dl T FaTg- eicile TETAE HARIAE, | dd: ARA: g face
Hrarar: qIfoTargorH 3Hd |

faq: 3merar AR AT T I 3PTesd | dF &
HASRITT BTl Heasiad | TFOT: FAH AR | AdaTona®
AT HAA 3TereTd | Glaeg TATAT IREcT Jel: Ao,
3 |

CARAET fg A= ?

g 3EAT AT g eafd ?
, BaFs 7ra

Correct Answer :-

 oftrer ARy



" oot ufsear srifAfdterr yeTEd e gaad -
fare fas yaray ot e ey T |
cnfaraedive A7 gt 3 FaeT 7 ||
3Mmel AT IRY: oot sreAvfy TeTafceT |
STl AT gedl Feddr AldR: THAT: ||
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Topic:- Science (SCI)

1) A creative teaching method to introduce kids to the world of science with fun, like basics of astronomy, biology, physics, earth science, etc. is:

mgmuﬁsrﬁaﬁgﬁmﬁﬁﬁaﬁmmﬁaﬁwwﬁr&mﬁmﬁﬁ%@ﬁaﬁaﬁvﬂaﬁaﬁ, Wifae, gt fag=

1. Science Exhibitions /ﬁ?‘lﬁm}f
2. Science Games /ﬁﬁﬁ@ﬁ

3. Science Fairs / fO Al

4. Science Songs /ﬁWTﬁH



Correct Answer :-

« Science Songs / fagm e

2) Who gave the model of “Cone of Experience”? /
"I TP TG ST Ais« feam foar ur
1. Burton / §¢4

2. James S. Kinder/@WW. fhsr

3. Edgar Dale / USTR =

4. Carter V. Good / BT . Ts

Correct Answer :-

» Edgar Dale / U817 X Sd

3) Developmental Psychology is studied by other scientists, Except for:/

farr TS Ao T @) Sieey o= Ao gRT siead fbar wiraT 8:
1. Anthropologists / A4 faqHT (GiTATRRT)

2. Biologists/ Sa fas=t (STaieiiore)

3. Physicians / e fasmit (Rpforerem)

4. Physicists / Hifae fag (rfoiRre)

Correct Answer :-

« Physicists / ﬂﬁﬁ@fﬁg (rfoRrae)

4) What is one method of transferring information from short term to long term memory? /

AY-BTe A Se-PHref= Vfa & a1 RIHiaRd $31 31 v A an g2
1. Rehearsal / gafvamq

2. Decaying / U

3. Delaying / fadiear

4. Chunking / 9fdT

Correct Answer :-

« Rehearsal / qafwm

5) What is the smallest unit of speech known as? /

IO &5 HH DI IHIE 1 T BT o1l 52
1. Morpheme / &0 (HIBIH)

2. Word / TG (39)

3. Syntax / IT-fa=m (Rice)

4. Phoneme / WA (BIH)

Correct Answer :-

« Phoneme / T (1)

6) Permanent hardness of water is due to: /

I &1 IR $3Rdl BT SR 2:

1. CaCO;4
2. Mg(NO3 ),

3. MgClz



4. N32CO3

Correct Answer :-
. MgC12

7) Three forces 20N, 30N and 50N are acting on a body placed on the horizontal plane. Here, the 20N and 50N are acting towards left and 30N
is acting in the opposite direction. Now the resultant force acting on the body is: /

TS &foel T IR 7@ T P TR 20N, 30N 3R 50N & ofi9 90 @7d &1 20 N 3A% 50 N, I7T¢ 3R 97 & 377 30 N faudia fozm & evrat
g1 fFrera W= e[ are ufvom 9« frann @2

1. 40N towards right / GT¢ 3R 40 N

2. 40N towards left / STT 3R 40 N

3. 40N in the downward direction / 12 &t 3R 40 N
4. 100N towards left / T8 3R 100 N

Correct Answer :-

« 40N towards left / 9T 3MR40N

8) Ultra microscope is set up based on which property of colloids. /

3T ATZH DY HIal3s & fbd 0T F YR W WITG fhar mar g
1. Brownian movement / STSTa TIfd
2. Tyndall effect / fesa e

3. Electrophoresis / 3Gga®m Ul TaT

4. Coagulation / STHIG

Correct Answer :-

« Tyndall effect / fcsanua

9) is the only mode of heat transfer which doesn’t require a material medium. /
THHT AT RITAR0T BT atepT ¢ forad armh arerm 3t srazadar 781 g1t 31
1. Convection / gdg-

2. Heat pumping / B SHT qf’im
3. Conduction / T
4. Radiation / fafeswor

Correct Answer :-

« Radiation / fafd=ur

10) If the amplitude of vibration is increased to three times of its initial value, then the loudness of sound will: /
i U & A B 3P YRS Ged & & A1 a9 g7 fear wiran 8, Y @y 31 yaaar ghf:
1. be doubled / & TFT

2. be six times of its original value / 30 IRAfAS A BT ST :
3. become three times of its original value / 30 IRdfd® | BT = AT
4. become nine times of its original value/ 30 aRGfd® A T A1 AT

Correct Answer :-

. become nine times of its original value/ 3U= AR HF T A1 T

11) In an electrical cell , the energy is stored as:
% fIgga 9a H, ol ®1 39 = ¥ wuda fear smar 3:
1. Charges / 3o



2. Heat energy / $HOHI ol V
3. Chemical energy / IS ol
4. Nuclear energy / URHIU[ 5

Correct Answer :-

« Chemical energy / IS Sl

12) Select the statement which is not true: /
3 BY BT IIH B o T TE 7
1. Sound travels faster in metal than in air. / @, ag BT ST Yrq T ST A Rl B |
2. Sound can be easily propagated through vacuum. /
fyafa & mrenw @ @ o & UId &1 o b gl
3. Sound can be produced by the vibrating air column. / @, HOF g1 WY §RT ScTed [T ol Feval gl
4. Sound can be propagated through any medium. / gt oft Areny @ el S ¥ uHIRG ot S Tl %I

Correct Answer :-

« Sound can be easily propagated through vacuum. /

frafa & e @ afy S | uaid &1 o Idl B

13) Select the pair of forces which are non-contact force: /

I 91 & G BT T DY, 5 3RYY (AH-BI<de) 99 &

1. Magnetic force and electrostatic force / W T MR RR 3?{!3,?[ EN
2. Muscular force and magnetic force / UM & 3R gaaﬁq EN}

3. Muscular force and frictional force / U=ft &7 3R Tdor @

4. Electrostatic force and frictional force /R aﬂ’{ﬁ T 3R gf0T 7

Correct Answer :-

» Magnetic force and electrostatic force / W ERERIRIN aﬂ’ﬂﬂ EN

14) In which one of the following cases will Common salt dissolve in water most readily? /

fFrafafa & 3 fog fRufa & aramor 79 o # 999 WRaar § faafa g smem?
1. 10gm of Tce at 0°C / 0° AfRTF W 10 TH TG

2. 10 ml of water at 90°C / 900 VT W 10 fireficiier /@
3. 10 ml of water at room temperature / HTHT dITHT UR 10 [ERIKIESK
4. 10 ml of Ice cold water / SBIA 68 oIdt BT 10 fAiieiier

Correct Answer :-

« 10 ml of water at 90°C / 90° AfRTTY WR 10 Fccier Sd

15) Alternating current is not used in: /

TTae YRT BT IUGRT 394 11 fpar Siran @:
1. Transformers / E'I'Fl'fﬁ\ﬁ:k

2. Electric heaters / ﬁ—C{Eﬁ diud

3. Electric geysers / ﬁ'c{gHTﬁGN

4. Electro plating / ﬁ@% Sec|

Correct Answer :-

« Electro plating / faggd oo=



16) The process of conversion of water vapour into liquid is called: /

W 9T & &q § FUTAROI B UfshaT deardl o:

1. Sublimation / ST

2. Condensation / &

3. Melting / el

4. Fusion / STRTOT

Correct Answer :-

« Condensation / o=

17) During rainy season the rain water goes deep down into the earth passing through different layers of soil.

Which one of the following processes does not occur during rain water seepage into the soil? /

T & iy A a1R=r &1 ur Y & fafire vl @ R gu gt Y weRis & gar srar @1
a1 & Ui & gt & e & A Frafafea 3 9§ o1 9@ uftsar 38t afea a1 32

1. Filtration / f0e

2. Sedimentation / Sa¥TE

3. Distillation / THdT
4. Decantation / fAROT

Correct Answer :-

« Distillation / 3THd"

18) The commercial unit of energy is expressed in terms of: /
ol B AR THTS 37 UG) § e P ofrelt o:

1. Nm

2. kW

3. Joule

4. kWh

Correct Answer :-

« kWh

19) Which of the following surfaces absorbs the least amount of heat energy when exposed to heat radiation? /
Fafafea 3 @ o1 9 wag S fafevu & Gud & o 1R T0 A TH ST Sl B a=ifid Fdt 32
1. Surface coated with white paint / ?I'av_qr Ye Iy afaa Yde

2. Surface coated with red paint / €Tcl Te ¥ aftg gdg

3. Surface coated with black paint / &Td Ue 9 Aftg gdg

4, Surface coated with dark green paint / TR X Ue § afud udg

Correct Answer :-

« Surface coated with white paint / W e g afua Ydg

20) Which of the following combinations are most suitable for composite fish culture? /

e aeuTeH ¥ fore Fafaf@e o @ #9 91 wEeE g9 Suge 82

1. Middle zone feeders and bottom feeders / H&I \_rh:T iR Td dlcH BlieR

2. Surface feeders only / W qde B

3. Surface feeders,middle zone feeders and bottom feeders / Tdg BISY, AL WIF B TG SIcH BIgT
4. Surface feeders and bottom feeders / ¥dg Biex Ud SicH BIgY



Correct Answer :-

. Surface feeders,middle zone feeders and bottom feeders / Tdg B8R, AL T WIe Ud SicH HIST

21) Which of the following natural phenomena cannot be predicted accurately? /
frafif@a 3 @ fra wrefae g @) wdte yfawamh 78 &) o ged 22
1. Lightning / farett

2. Thunderstorm / 3T ?ﬂ-w

3. Earthquakes / Y]

4. Cyclones / b dld

Correct Answer :-

« Earthquakes / HpH

22) Which of the following is not an animal protein? /
Frafafea & w1 ve sia e T8 32

1. Wool /

2. Silk /=M

3. Milk / GY

4. Pulses / QIcl

Correct Answer :-

« Pulses/qldl

23) Which of the following is not related to sound? /
Fafafea & @ o= w1 @ & St 78 32

1. Frequency / Hﬁﬁf

2. Microphone / W

3. Loud speaker / I3 S Ravicong

4. Myopia / R ibaliiopa

Correct Answer :-

« Myopia/ Eioliivpa

24) Which is not a major advantage of Crop Rotation? /
=l & 3 & waa srad &1 gy ary g R

1. Additional use of fertilizers / SR T SfaRad ITANT

2. Conservation of soil productivity / F&T SdTGDH T DT &I
3. Weed control / WRUAAR =01

4. Increased yield / 30 # g

Correct Answer :-

« Additional use of fertilizers / Sa%ep! T TG ITANT

25) Choose the incorrect physical property of non-metals. /
SruTgait & i ifas Tur BT 9u B

1. Generally they have low density. / THId: Ydd vH E->|T‘|T %I
2. They are not sonorous. / FIfe 71@ Eﬁf %I

3. They are brittle in nature. / U?ﬁl o ‘J-I'{R @ﬁ %I



4, They have high tensile strength. / 3= d=Idl &HdT Eﬁ?ﬁ %I

Correct Answer :-

« They have high tensile strength. / 3 d=IdT &HdT g %I

26) Choose the incorrect statement among the following: /
A A sgfud g FTIEA Y
1. Potassium is always stored in water. / uﬁﬁm Ea Eﬁ?ﬂ T 1 ST % |
2. Potassium can be cut easily with a knife. / th?ffi’rqn Uh i T AT T BTeT o bl %I
3. Potassium reacts with dilute acids to produce hydrogen gas. /
BTS SO 114 T ScTa B o (o Ule R T 3 o A1 IfNfohar vl 51

4. Potassium when burnt in oxygen forms its oxide. /

SffRfior H S 91 R U R &1 3ifaggs saar gl

Correct Answer :-

« Potassium is always stored in water. / m%ﬁfqﬂ LA _E»'ﬁ"\’ﬂ = G ST % |

27) When a spring is stretched by 2 cm, it stores 100J of energy. If it is stretched further by 2 cm, then the stored energy will be increased by: /

e TP AT $I 2 Y 9 arf=ra fbar et @, @ 3379 1000 Hoif TUfed giar €, afe 32 2 Jt 3R Siftres anfera fpan e 8, 99 wueta
Foi & frah gf g

1. 400J
2.100J
3.300J
4.200J
Correct Answer :-

e 300J

28) Out of the following options, select the correct relation for the electric power. /
frafafed faee § 9, fagga ufda & R 96t Ty w1999 331

1.P=V/R?

2.P=V2R

3.P=I/R?

4.P=1R

Correct Answer :-

. P=V’R

29) An olfactory indicator among the following is: /
e & 99 v uor gEe @
1. Phenolphthalein / BHEISEAINES

2. Soap / AIg
3. Clove / T

4. Turmeric / E(Tff

Correct Answer :-

« Clove/ ?ﬁT[

30) The SI unit for measurement of length is: /



waTs $) 7T P g 1 3TS
1. Millimeter / forefiiex

2. Kilometer / fr@Hex

3. Centimeter / YeIHIER

4. Meter / HTeX

Correct Answer :-

« Meter/ HleX

31) If a student is able to make predictions in an experiment by making logical connections using correct evidences, he/she is capable of:

/
Tfg B faendf o) wied) &1 ST $3% aifhe Hay gre fFd W A gd-gen 3R A wem 2, A s Fru d wem :
1. Drawing conclusions / FsBS faTaT
2. Observation / 3ddlH
3. Experimentation / AT
4. Providing explanation / BB Y& HAT

Correct Answer :-

« Drawing conclusions / FT55Y T

32) What is mineral oil? /

Qe ad w1 3?2

1. A mixture of glycolipids / ARG HT T 9T

2. A mixture of hydrocarbons / Eﬁ@?ﬂa’:ﬁ CARCAEE

3. A mixture of lipids and minerals / oot GﬁT LCIE NI TUdh fargor
4. A mixture of water and oil / Tt 3ﬁ? ad BT Udh frgor

Correct Answer :-

« A mixture of hydrocarbons / _E"TS'@W CaRca fargror

33) Find the time taken by the sound to travel through a distance of 5 km, if its frequency is 2.5 kHz and the wave length is 20 cm. /

gfe eafy ot smgfyr 2.5 fFaleds § ok awrged 20 I B @t I/ 5 6 I arn A fan oy @@, g9 H32
1.2.55/2.5 98
2.20s /20 ¥bS
3.10s /10 9bS
4.155/15 Jbs

Correct Answer :-
. 10s/10 98
34) Neem leaves and its twigs are used in the production of tooth pastes.

Identify the substance present in them which prevent tooth decay. /

9 & u=il 3R D! TEl~a) BT SUTNT SAHH/IRE $ IdTe- H fohaT SITdT & | S9H IUA Sidl &1 S A B AP a1 ded $1 Uga
B

1. Carboxylic acid / PIETITOD 3T

2. Alkali / el

3. Mild acid / ST 3

4. Salts / <IdUT

Correct Answer :-



. Alkali / 3fe@dll

35) CANCELLED

is not an organic acid. /

U yoEe o e e
1. Oxalic acid / 3TaATT® 3

2. Acetic acid / Qﬁlﬁib_ 3

3. Formic acid / T 33

4. Carbonic acid / BTEH ST
Correct Answer :-

« Carbonic acid / BT 3T

36) CANCELLED

If ‘F” is the force, ‘m’ is the mass and ‘v’ is the velocity, the dimensions of ‘X’ and ‘Y’ on the relation
F=X(mv) /(1 +Y) are respectively /

e P AR, ‘m’ AN © 3R v’ A7, @ F = X(mv) P FEY H X 3T ‘Y’ & M -

LT, T!

2. L1, T2

3. T'!, dimensionless / T'l, &ITCITJ:I_Eﬂ:T

4. dimensionless, T / &num%h, T

Correct Answer :-

« T°!, dimensionless / T, GH'CITFI—EL]:[

37) CANCELLED

Identify the correct set of isotones among the following options. /

Frafafe farel & @ wawfe & Sfua de o yga= a3
13N and 180
180 and 30
20Ca and 13K
£0Ar and 1K

4.

Correct Answer :-
15 16
2N and 30

38) CANCELLED

Which of the following statement is true: /

faffTd s T s aa?:

1. Thrust is the force acting normally on a surface. / 8311 Uh g IR IAH =0 I HTH B aTell g %I
2. Pressure is directly proportional to the area. / G8Id, DA & U Gﬂﬁcﬂﬁﬁﬁ =l

3. As thrust increases pressure decreases. / aﬁ-@@f &?U dedl % cd[d vy Eﬁ?ﬂ STl %l

4. Pressure is inversely proportional to force applied. / G8Td, T §d & faudid U 31



Correct Answer :-

o Thrust is the force acting normally on a surface. / 8312[ Th g IR JH =0 I HTH HA Il §d %I
39) CANCELLED

A bus is moving with a speed of 72 km/h, convert its speed into m/s: /

& g9 72 e/ der 31 vy & 9w W6 3, 3wt afa ot /@ § aiafda a3

1. 10m/s / 10 HI/&A

2.720m/s / 72 HIA

3. 30m/s / 30 HA

4. 20m/s / 20 /A

Correct Answer :-

« 20m/s /20 HIA

40) CANCELLED

Which one of the organisms mentioned below is a herbivore ?/
= aftfa el & & #9 ve e 82

1. Shark / ]ITh

2. Peacock / AR

3. Frog / flﬁ

4. Mouse / 9gI

Correct Answer :-

« Mouse / TgT

41) CANCELLED

Which one of the following factors will change the magnitude of Equilibrium constant for the following reaction?
Na(g) + 3Hz(g) = 2NH3(q) /

fFafafEa 9 @ o9 1 ore Fafif@a sfufira & e 9 Jgaa & ufvmmr &) gega am?
N2(g) + 3Hz(g) = 2NH3(q)

1. Use of finely powdered Iron catalyst / EIRED ?;[Uf?ﬁ_ﬁa' JIRS BT ITAT

2. Decrease in the pressure of Np(g) / Np(g) & g B B

3. Increase in Temperature of the reaction / ST o aroH= o q@

4. Concentration of Reactants / 3TN B Figdl

Correct Answer :-

« Increase in Temperature of the reaction / 3{THTshT & aaE o ?{@

42) Which of the following is not a part of the 5E constructivist model of teaching-learning? /
frafefEa & @ #1 Rieror-aifinma & 5 Sa-Tard) i o1 few 78t 82

1. Engage /G ('Q'PITID

2. Elaborate /ﬁﬁﬁ (Q?ha?)

3. Enhance / S8R ( Qq%ﬂ)

4. Explain /9o (Q’W@'_‘D

Correct Answer :-

« Enhance /é@?ﬂ ( Qq%m



43) Which of the following is not a characteristic of a good textbook? /

frafafEd & @ 919 M te st Treuyws B fasivar 78 82

1. It may not cover the entire syllabus of one stage. / dg Yh IRU[ G Ug UISIshH &1 giraferd ﬁm Jghdt % |
2. It is a finished product for transferring the knowledge. / dg T E [ESIGRYI £ ﬁ"l’Q Udh ?1?11? RICI % |

3. It should not be self-contained. / g T+t a7 3 Ifefera qﬁfﬁ:ﬁ aT%'QI

4. Tt may not be necessarily for a whole year. / T8 T I¥ a¥ & foQ 3mawas =&t & Tevdl 71

Correct Answer :-

« Itis a finished product for transferring the knowledge. / g I *® ESIGRLI *® %E Udh a'CI'IT 3diq %I

44) Which of the following is an objective for teaching students of higher primary level (V, VI, VII)? /
T WA R (V, VI, VII) & Bl & e & fog Fafifea § @ 19 3 stxa @2
1. Development of understanding of laws, concepts and principles /
T, sraeromett ofR Rigid 31w &1 far |
2. Development of power of reasoning / I P Ufea &1 faer|
3. Development of practical outlook / BCI'IHETRTJF ?@W &1 fawrg|
4. Development of interest in reading scientific literature / IS TR Tgd H =T BT [Jbr|

Correct Answer :-

« Development of power of reasoning / ECARUESEaREEZRT

45) An example of merry-go-round can be used to explain which of the following scientific concepts to the students? /
F-M-TSs (i) o1 Sarexvr Fufifad & § o9 4 IWe sauRvn S S o 9AsmH & g swaaTd fFar o 9@ g2
1. Oscillatory motion / AR T

2. Rotation of Earth / q&':ﬁ Eal ‘ZLUT:T

3. Gravity / T=d
4. Centripetal force / %3 HHY §¢cf

Correct Answer :-

« Centripetal force / 353 HHY §¢f

46) Clinical thermometer is designed to measure the: /

Aqifre yriTier # f5a AroA & fore feems= fovan mar &:

1. Temperature of the chemicals used in the clinic / Fitt® & UYdd AT T ATaH=
2. Temperature outside the clinic/ FD & dTex dIUHA

3. Temperature inside the clinic / FEAD & e dTaHH

4. Temperature of the human body / HTId IRR HT A0HH

Correct Answer :-

« Temperature of the human body / ATd YRR HT ATGHH

47) What is the duration of kharif crops? /
@E wadl 1 afy a1 g2

1. June to October / [ ¥ 3{agaR

2. March to September / A ¥ fideR

3. October to March / &Iilf,\'_ﬁﬁ g

4. November to April / TdsR & 31id

Correct Answer :-



« June to October / Gﬁ@f Sfaga}

48) An object completes 120 revolutions in 30 seconds along a circular path. The ratio of its frequency to its period is: /
TS a3 U URUT Y X 30 VHS H 120 RN Bt T FHl 31 39 ATy & g g9t smafr &1 3qura &:

1. 1:4

2.1:2

3. 16:1

4.4:1

Correct Answer :-

. 16:1

49) The force acting on the bullet when it moves through the air towards a target is: /

gdc TR A 9161 99, 9 gaT ¥ 3T B 3R ggdT 8 o) A& 8:
1. Force due to the gun / W%Waﬁ

2. Gravitational force alone / 3{dhcl W&UTW

3. Gravitational force and frictional force. / W 9 3R g7 |
4. Frictional force alone / 3{ahcl T80T I

Correct Answer :-

« Gravitational force and frictional force. / TETHYU §& 3R TH0T Fa|

50) Expanding and cooling of hot air results in: /

T ga1 #1 IR ok Xfiaa= e & & feweT ufvoma g 2:
1. Condensation / 9=

2. Vapourisation / qrefieRor

3. Hail storm / 3TN

4, Precipitation / &Y

Correct Answer :-

« Condensation / §o-

51) The radiations absorbed by ozone are: /
SIS gRT Sra=nfya fafdor §:

1. Ultraviolet rays / RIS R0t

2. Infra red rays / 3fdad oot

3. Gamma rays / TITHI fopvof

4, X-rays / QT:R‘:I-%

Correct Answer :-

« Ultraviolet rays / RIS f3hR07

52) A teacher explains that during experiments, one can verify results using more than one method. This shows an understanding of which
attribute of scientific temper? /

T e saren ¢4 € fp v & dE, v 9 eiftre faftay @1 Suahn s3a ufom) @) gt far o 9oar 21 599 anfae
TIHTG $t DI Y faRudr 1Ay giar g2

1. Critical thinking / T8+ fid=
2. Open-mindedness / ERUEINE]

3. Respect for evidence / T8 & T%m A



4. Logical thinking / TTfdseb i

Correct Answer :-

« Critical thinking / T

53) For a person suffering from hypermetropia, the image of the object is formed: /
eef® dv A fifsa ve wfda ¥ g avg &1 wfafea S aqan @:

1. Behind the retina / ¢ & Ul

2. Tn front of the retina / XfSHT & THA

3. On the retina / YCAT TR

4. On the eye lens /A AR

Correct Answer :-

« Behind the retina / Y& & di

54) Glucose drip is usually given to a physically weak patient because: /
TP 3T AR IR INIRT U | FUER 73w $1 far s § wife:

1. He is not drinking enough water. / 98 i 5 EREIEG] E?IHT % |

2. Dehydration can be prevented. / T [EENIERUEARCIRTIRSCal] % I

3. It readily gets absorbed for energy. / g WXl Y SHort & forg Sra=nfid g o B
4. He gets a balanced diet. / 98 $9Y T 3ATER UK &1

Correct Answer :-

« It readily gets absorbed for energy. / dg dARcldl Y Soll & oY Sra=nfid g o g

55) If the angle of incidence in the first medium is equal to the angle of refraction in the second medium, then the
absolute refractive index of the medium is: /

gfe yga Arend | SArufad BT gI AT B SUad= & HI0 S I g, A WISTH BT YOI SUadd qaSiS &
1.1.33
2.1.1
3.1.0
415

Correct Answer :-

- 1.0

56) Which one of the substances mentioned below is not responsible for the depletion of ozone layer? /
F g TQ yardt & @ 1 A1 S Wa F 3@am & g Saverd T8 82

1. Carbon tetra chloride / BTE CCTAARIZS

2. Ammonia / 3MEIfT

3. Aerosols / WA

4, Chlorofluoro carbons / aﬁﬁm@lﬂw

Correct Answer :-

« Ammonia / 3

57) Gallinaceous domsticated fowl,bred and raised specifically for meat production is: /
Tegpape-dadt uraq uelt, 7w St faflkiy ©u A wiw Iare & g et Wt @:
1. Rhode Island / IS &nsﬁ's'



2. Turkey / U= Gl

3. Broilers / aTs?R
4, Ducks / 9

Correct Answer :-

« Broilers / QVE?R

58) Unambiguous instructions are always required for: /

e & frg g v fAdwr smavgs g €

1. Long Answer type questions /ﬁGﬂﬂUt{%{

2. Supply type objective questions / U (&ﬂ'q;%) TSR & ?ﬂﬂﬁfg uy
3. Selection type objective questions / IIT PR & aﬁﬁ'g uy

4. Short Answer type questions / €Y IR Ty

Correct Answer :-

« Selection type objective questions / I YHR & fﬂﬁﬁg uy

59) Fishes live in water. It is their natural_____ Use the right biological term. /
nofert, TRt AR gl ge ST welaw B SUgH SHfaw Wsg BT UGN Y
1. Home / TR

2. Habitat / 3{TdTH

3. Environment / TcTdR0T

4. living space / TE;'%[ CIRSIE]

Correct Answer :-

« Habitat / 3TdI

60) Which of the following topics clearly demonstrates the interdisciplinary nature of science? / fFrafafea & @ o9 a1 fawg
WY =0 g & srarfawas uefa o qxifar 82

1. Colloids / IS

2. Evolution / 3+&d

3. Programming / SFHIGRH @m
4, Astronomy /@ﬂaﬁgﬂ

Correct Answer :-

o Astronomy / @ia faen



